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GSQ/M-20 1686
ECONOMICS OF DEVELOPMENT-II

Option (iii)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. Nos. 1 & 2 are

compulsory. Attempt remaining three questions selecting

one question each from any three of the Units out of

the four Units. All questions carry equal marks.

dqy ik¡p iz'uksa ds mÙkj nhft, A iz'u  la[;k 1 rFkk 2

vfuok;Z gaS A 'ks"k rhu iz'u pkj bdkb;ksa esa ls fdUgha rhu

bdkb;ksa esa ls ,d&,d iz'u pqurs gq, dhft, A lHkh iz'uksa

ds vad leku gSa A

Compulsory Question (vfuok;Z iz'u)

1. The large scale production of goods and services consumes

large amount of natural resources. It leads to more and

more pressure on the natural resources that, ultimately,

cause serious damage to the environment. The over-

consumption of natural resources today shall deprive the

future generations access to these resources. Water scarcity,

shrinking forest areas, damage to biodiversity, deteriorating

soil health and damage to flora and fauna etc. shall make
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the life unsustainable. Sustainability is the only option to

protect the resources for tomorrow. We should be careful

in using the resources and should consume only that

much amount of resources which meet our needs.

On the basis of the above case study, answer the following

questions : 4×4=16

(a) What leads to more and more pressure on the natural

resources ?

(b) What is the impact of over-consumption of resources

on environment ?

(c) What makes life unsustainable ?

(d) What should we do to protect the natural resources ?

oLrqvksa vkSj lsokvksa ds cM+s iSekus ij mRiknu esa cM+h ek=kk esa

izkÑfrd lalk/uksa dh [kir gksrh gS A blls izkÑfrd lalk/uksa ij

vf/d ls vf/d ncko iM+rk gS] tks vUrr% i;kZoj.k dks xaHkhj

uqdlku igq¡pkrk gS A izkÑfrd lalk/uksa dh vf/d [kir vkt

Hkkoh ih<+h dks bu lalk/uksa rd igq¡p ls oafpr djrh gS A ikuh

dh deh] ou {ks=kksa dk de gksuk] tSo fofo/rk dks uqdlku]

feV~Vh dk {k;] ouLifr;ksa vkSj thoksa dks uqdlku vkfn thou dks

vfuf'pr cuk nsaxs A dy ds fy, lalk/uksa dh lqj{kk ds fy,

fLFkjrk ,dek=k fodYi gS A gesa lalk/uksa dk mi;ksx djus esa

lko/kuh cjruh pkfg, vkSj gekjh t:jrksa dks iwjk djus okys

lalk/uksa dk dsoy mruk gh miHkksx djuk pkfg, A
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mi;qZDr dsl vè;;u ds vk/kj ij fuEu iz'uksa ds mÙkj nhft, %

(v) izkÑfd lalk/uksa ij vf/d ls vf/d ncko dkSu Mkyrs

gSa \

(c) i;kZoj.k ij lalk/uksa esa vf/d miHkksx dk D;k izHkko

iM+rk gS \

(l) thou dks vfuf'pr dkSu cukrk gS \

(n) izkÑfrd lalk/uksa dh lqj{kk ds fy, gesa D;k djuk

pkfg, \

2. (a) Choose the correct answer : 1×5=5

lgh fodYi pqfu, %

(i) Which of the following is cause of

environmental degradation ?

(1) Urbanization (2) Rising population

(3) Industrialization (4) All of these

fuEufyf[kr esa i;kZoj.k {k; dk dkj.k dkSulk

gS \

(1) uxjhdj.k (2) c<+rh tula[;k

(3) vkS|ksxhdj.k (4) ;s lHkh

(ii) Which of the following is merit of

development planning ?

(1) Full employment

(2) End of consumer sovereignty

(3) Self-sufficiency

(4) All of these
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fodkl fu;kstu dk fuEufyf[kr esa ls dkSulk xq.k

gS \

(1) iw.kZ jkstxkj

(2) miHkksDrk lEizHkqrk dk var

(3) vkRe&larqf"V

(4) mi;qZDr lHkh

(iii) The process by which product stimulates the

production of others is called :

(1) Multiplier (2) Linkages

(3) Expansion (4) Specialization

og izfØ;k ftlds }kjk mRikn nwljksa ds mRiknu

dks mÙksftr djrk gS] mls dgk tkrk gS %

(1) xq.kd (2) ¯ydstt

(3) foLrkj (4) fo'ks"khdj.k

(iv) Which of the following is non-conventional

source of energy ?

(1) Coal (2) Solar energy

(3) Petroleum (4) Electricity

fuEufyf[kr esa ls dkSulk mQtkZ dk xSj&ijEijkxr

lk/u gS \

(1) dks;yk (2) lkSj mQtkZ

(3) iSVªksfy;e (4) fo|qr
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(v) Which of the following is an element of

economic development ?

(1) Economic welfare (2) Structural changes

(3) Per capita income (4) All of these

fuEufyf[kr esa ls dkSu vk£Fkd fodkl dk rRo

gS \

(1) vk£Fkd dY;k.k (2) lajpukRed ifjorZu

(3) izfr O;fDr vk; (4) ;s lHkh

(b) Match the following : 1×5=5

(i) Natural resources (1) The Whole World :

One Village

(ii) Poor sanitation (2) Morris D. Morris

(iii) Globalization (2) Mixture of Oxygen

(O2) & Ozone (O3)

(iv) Physical quality (4) Forests, Minerals,

of life Index Soil etc.

(v) Ozone layer (5) Health challenges

fuEufyf[kr dk feyku dhft, %

(i) izkÑfrd lalk/u (1) lEiw.kZ fo'o % ,d xkao

(ii) liQkbZ dh ?kfV;k (2) ekSfjl Mh&ekSfjl

O;oLFkk

(iii) oS'ohdj.k (3) vkWDlhtu (O2) vkSj

vkstksu (O3) dk fe Ükz.k

(iv) thou lwpdkad dk (4) ou] [kfut] e`nk vkfn

HkkSfrd xq.k

(v) vkstksu irZ (5) LokLF; ifjorZu
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(c) Answer the following in short : 2×3=6

(i) Define air pollution.

(ii) State two objectives of NITI AAYOG.

(iii) What is Export Promotion ?

fuEufyf[kr dk la{ksi esa mÙkj nhft, %

(i) ok;q iznw"k.k dks ifjHkkf"kr dhft, A

(ii) uhfr vk;ksx ds nks mn~ns';ksa dk o.kZu dhft, A

(iii) fu;kZr izksUufr D;k gS \

Unit I (bdkbZ I)

3. Analyse briefly the changes in the sectoral composition

of national income of India since Independence. Do these

changes reflect economic growth? 16

Lora=krkdky ls Hkkjr dh jk"Vªh; vk; dh {ks=kokj jpuk esa

ifjorZuksa dk laf{kIr fo'ys"k.k dhft, A D;k ;s ifjorZu vk£Fkd

o`f¼ n'kkZrs gSSa \

4. What is meant by economic development ? Explain the

main elements of economic development. 16

vk£Fkd fodkl ls vkidk D;k vFkZ gS \ vk£Fkd fodkl ds

izeq[k rRoksa dk o.kZu dhft, A
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Unit II (bdkbZ II)

5. Give arguments for and against import substitution policy

of growth in the context of an under-developed

economy. 16

v/Z&fodflr vFkZO;oLFkk ds lanHkZ esa òf¼ dh vk;kr izfr&LFkkukiUu

uhfr ds i{k rFkk foi{k esa rdZ nhft, A

6. Explain, how the international trade affects the economic

development of a country ? 16

crkb, fd vUrjkZ"Vªh; O;kikj ns'k ds vk£Fkd fodkl dks dSls

izHkkfor djrs gSa \

Unit III (bdkbZ III)

7. How economic development causes environmental

degradation ? Explain. 16

vk£Fkd fodkl dSls i;kZoj.k {k; dk dkj.k curk gS \ O;k[;k

dhft, A

8. What is meant by air pollution ? Suggest remedies to

control air pollution. 16

ok;q iznw"k.k ls vkidk D;k vfHkizk; gS \ ok;q iznw"k.k fu;a=k.k ds

lq>ko nhft, A
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Unit IV (bdkbZ IV)

9. Critically examine the performance of Indian economy in

terms of the objectives of poverty eradication and

unemployment since Independence. 16

Lora=krk ds ckn ls xjhch mUewyu vkSj mn~ns';ksa csjkstxkjh ds ds

lanHkZ esa Hkkjrh; vFkZO;oLFkk ds izn'kZu dk vkykspukRed ijh{k.k

dhft, A

10. What are the objectives of economic planning ? Explain

the problems being faced by the planned economies. 16

vk£Fkd fu;kstu ds D;k mn~ns'; gSa \ fu;ksftr vFkZ&O;oLFkk ds

lkeus vkus okyh lHkh leL;kvksa dk o.kZu dhft, A
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